TRIGONOMETRIC RATIO - EXERCISE

If ABCD is a cyclic quadrilateral such that
12 tanA -5 = 0 and 5 cosB + 3 = 0 then the
quadratic equation whose roots are cos C, and
tan D is-

(1) 39x2 - 16x - 48 = 0

(2) 39x2 + 88x + 48 = 0

(3) 39x2 - 88x + 48 = 0

(4) None of these

1
cos(a + B) = o cos (o —B) = 1find no. of ordered

pair of (a,B), T <a, B<m

(1) 0 (2) 1 (3) 2 (4) 4

1
If 6 & ¢ are acute angles such that sin6 = ) and

1
cos ¢ = 3 then 6 + ¢ lies in-

2n br
5 (5 %)

Th | f cos@nLcosﬁnLcos6—n+cos7—TC i
e value o 7 7 7 7 is-

(1} 1 2 -1

3)1/2 @) -3/2

If cot o equals the integral solution of the inequality
4x? - 16x + 15 < 0 and sin p equals to the slope
of the bisector of the first quadrant, then
sin(o + B) sin(o — B) is equal to-

(1) -3/5 (2) -4/5

(3) 2//5 (4) 3
If sinx + cosx =a, a € [—x/E, \/5]— {-~1L1} , then

Z (sin” x +cos” x) is equal to -

n=1

2(1+a—a’) 2(a*—a+1)
(a+1)° (a-1)°

@ 2(a2—a:rl) n 2(l+a—2az)
(a+l) (a—l)

10.

11.

12.

sec80-1 a+btan’ 20

If =
sec40—1 l+ctan’20+dtan*26

(where 97&%, n e 1), thenvalue of @—b +c—d)

is -

10 21 3)7 4) 13

If o, B, vy, & are the smallest positive angles in
ascending order of magnitude which have their sines
equal to the positive quantity k, then the value of

D% 360 b+ 2% sin is equal b
51r12 + Slrl2 + Slrl2 +Sln2 1S equal 10 :-

(1) 2y(1-k) 2) % (1+k)
(3) 24/(1+k) (4) None of these

The sum of the maximum and minimum values of

the function f(x) = ! - is :-
1+ (2cosx —4sinx)?

2 9l e @n
21 20 20 11

In AABC sin®A + sin’B + sin’C = 2

(1)

then triangle is :-
(2) Right angle
(4) None

(1) Equilateral
(3) Isosceles
The value of expression

2(sin1°+sin2°+sin3°+.....+sin89°)
2(cos1®+c0s2°+....+cos44°) +1

(1) V2 (2) 1/+2
(3) 1/2 (4)0
Let x = sin1°, then the value of the expression :-

equals:-

1 1 1
+ + + ...
co0s0°.cosl® cosl®.cos2° cos2°.cos3°

1
* cos44°.cos45° s egual o
(1) x 2) 1/x
(3) V2 /x @) x/\2
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. = i i = b, th
34 cot80° cot 20° 21. If cos a + cos B = a, sin o + sin B = b, then
13. Valueof ~ " "~ -isequal to - cos (o+B) is equal to :-
(1) cot 200 (2) tan 500 (1) 2ab (2) ﬂ
a’+b’ a’—b’
(3) cot 50° (4) cot~20°
14. The value of :- Q a’ —b? @ b*-a’
m Bn st Tn 9 lln 13 kb A
=t 14 =t 14 = 14 s 14 s 14 i 14 =l 14 5 22, Which of the following is correct :-
equal to (1) sinl >sin2 >sin3  (2) sinl < sin2 < sin3
(3) sinl < sin3 < sin2 (4) sin3 < sinl < sin2
(1) l 2) i (3) L (@) L 23. The maximum value of 12 sin0 — 9 sin0 is :-
8 16 32 64 1) 3 2) 4
15. Thevalue of sin?5°+ sin?10° + sin? 15°+ ... +sin?85° (3) 5 (4) None of these
is equal to :- 24. If y = 9 sec’ + 16 cosec?k, find the minimum
| 1 value of y for all permissible value of x.
(1) 7 (2) 8— 39 @) 9— (1) 49 (2) 50 (3) 24 4) 25
16 2 A 24 - 2 25. log (sin 1°) log (sin 2°)log (sin 3°) ...... log(sin 1799)
. tana + Ztan Za + 4 tan 4o + 3 cot Sa. :- is equal to —
(1) tan o (2)tan 2o (3) cot a (4) cot 2a. (1)1 2)0 (3) 2 @) -1
o on 3n 5t Tn 26. If A=sin45°+ cos45°and B = sin 44° + cos 44°,
17. sm“g + sin? 3 + sm“g + sm“? = then:-
(1)A>B 20A<B
1 1 3 3 BA=B (4) None of these
(1) 2 @) 4 3) 9 ) 4 27. IfinaAABC, £C = 90°, then the maximum value
18. The maximum value of the expression of sin Asin Bis -
! Ik @1
sin’0 + 35in0cos0 + 5c0s20 2
(3) 2 (4) None of these
1) 2 2) 4 28. If tanx +tany =25 and cot x + coty = 30, then
2 the value of tan(x + y) is
31 (4) None of these (1) 150 (2) 200 (3) 250 (4) 100
19. Ifsinx + sin?x + sin®x = 1, then ,
cos*x — 4 cos’x + 8 cos™x = :- 29. If the maximum value of y = - otn x—ztan X
(1)3 24 3)2 @1 (I+tan”x)
20. If ais the common positive root of the equation
s L1220, 2 — bx+ g and is A then the value of log (%) is
X" —ax = sy X7 —DX =
x*~(a+b)x + 36 = 0 and cos x + cos 2x + cos 3x = a, L8 (2) 6
then sin x + sin 2x + sin 3x = ... 338 1
(1)3 2) -3 30. If O <b<m, tl;ler-l minimum value of
3) 0 (4) none of these 3 sind + cosec>0 is :-
(14 (2)3 (3)5 (4) 6
Que. 1 2 3 4 5 6 7 8 €) 10
Ans. 1 4 2 4 2 4 2 3 1 2
Que. 11 12 15 14 15 16 17 18 9 20
Ans. 1 2 2 4 2 3 3 1 2 3
Que. 21 22 23 24 25 26 27 28 29 30
Ans. 3 4 2 1 2 1 1 1 2 1




